Name Date

Recall: CPCTC stands for Corresponding Parts of Congruent Triangles are Congruent. State what you know is congruent if you are given that AABC = ADEF
Angles: 4 =/ 4 =/ 4 =/

Sides: = = =

Before you use CPCTC in your proof, you MUST prove that the triangles in question are congruent first.
Note: number of statement is merely a guide. You may require more or less statements to complete your proof depending on your approach.

Given: GH=KL, 2G=«K, and GI=K] Given: ZMNP=20PN, and MN=0P
0
G
v i L
M
Prove: HI=L] Prove: MP= o+
Sm_tgmg__nts Reasons Statements Reasons
1. GH=KL 1. Given 1. 1. Given
2. 2. Given 2. MN=0P 2.
3. GI=K] 3. 3. NP=NP 3.
4 L 4, SAS 4. AMNP=AOPN 4,
5. HI=L] 5. 5. 5.CPCTC




Given: AC=CE, DC=BC

Given: GH||JT, I is the midpoint of HK and

Prove: £B=«D A GH=]I G J
C Prove: £G=£]
B
H 1 K
Statements Reasons Statements ' Reasons
1. 1. 1. GH||JT 1,
2. 2. Given 2.1is the midpoint of HR | 2.
3. ZACB=,EcD 3. 3. - 3. Given
N 4. A= 4,
4. ﬁAEC:.&. ERC 4. 5. 5. Corresponding Angles
S. LB:LD 5'. 6. 6. SA.S
7. £G=L4] 7.
Given: AB=CD, BC=DE, and AC=CE Given: GH||1], zH=<] and GH=I] H ]
Prove: £A=2£DCE Prove: ZGIH=£IK]
G [ K
Statements " |Reasons
Statements =~ 1. 1. Given
o 2. tH=/] 2.
1. AB=CD 3. 3.
2. BC=DE 4. 4.
3. 5. 5.
4. 6. 6. CPCTC
5.




Given: AB=DE, £A=,D, and AC=DF B
Prove: £C=£F D
C
Statements Reasons
1) 1)
2) 2)
3) 3)
4) 4)
5) 5)

Given: GH||T], £1G]=£H]G G n
Prove: [G=H]
- |
Statements Reasons

1) 1)

2) 2)

3) 3)

4) 4)

5) 5)

6) 6)




Given: SU=0V

and £TUS and £TUV are right angles.

Prove: ST = VT

Given: MN=P

Prove; tM=,P

P
0
Statements Reasons
1) 1)
2) 2)
3) 3)
4) 4)
5) 5)

S : .I"U'_]

Statements Reasons
1) 1)
2) 2)
3) 3)
4) 4)
5) 5)
6) 6)




Given: AB||DE, C is the midpoint of AE

Prove: BC=DC

Statements

Reasons

1)

2) 2)
3) 3)
4) 4)
5) 5)
6) 6)
7) 7)

Given: GH=]K, HI=KL, and IG=L]
Prove: Zl=2L H K
G J
Statements Reasons




Given: ZN=£P, zLM=£(Q, and MO=QR
Prove: 20=«R N
M
Statements Reasons

Given: TU=WU, £4T=2W
Prove: TS=WV

Statements

Reasons




Given: AB=DE, zB=<E

>

Prove: AC=DC

Statements

Reasons

Given: MN=PO, MP=NO
Prove: £zM=20

Statements

Reasons




